Potenzen von Potenzen – Lösungen
	1.
	a)  (2³)²
	b)  (4²)4
	c)  (0,2²)4
	d)  (10³)5

	
	= 26
	= 48
	= 0,28
	= 1015

	
	e)  (a5)³
	f)  (x³)m
	g)  (am)n
	h)  (y2a)b

	
	= a15
	= x3m
	= amn
	= y2ab


	2.
	a)  (xm)n+1
	b)  (ay)x-1
	c)  (xa+3)b
	d)  (zn-3)4

	
	= xmn+m
	= axy-y
	= xab+3b
	= z4n-12

	
	e)  (p2k+1)3
	f)  (bn-4)m
	g)  (yp)q-2
	h)  (k2m+3)n

	
	= p6k+3
	= bmn-4m
	= ypq-2p
	= k2mn+3n


	3.
	a)  (x²y³)²
	b)  (a³b)5
	c)  (d5e³)3
	d)  (m6n5)8

	
	= x4y6
	= a15b5
	= d15e9
	= m48n40

	
	e)  (a³b4)n
	f)  (3x5y2)²
	g)  (5a²b7)4
	h)  5(m4n5)4

	
	= a3nb4n
	= 9x10y4
	= 625a8b28
	= 5m16n20


	4.
	a)  
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